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95% of 180 =

29.5 -16.125 =

2,/00 =3 =

450 + 9 =

38% of 750 =

52% of 700 =

2 x4 x30=

2,800 = 7 = 0.3 =10 =
T . ] |82x12=
ETB—

4 x 702 =
£ x 900 =
0.4 x 37 =

young children.

This formula is used to estimate the mass (in kilograms) of

mass = 2 x (age In years + 5)

-10°C

3°C

5

1— of a number is 22

There are 50 roses in each box.

The manager of a flower shop orders 4 boxes of red roses.

The manager makes bunches with & roses in each bunch.

94 x6 + (54 x3 = 754 x

Some children choose their favourite zoo animal.
The pictogram shows the results.
Animal Number of children
penguin O O O
elephant O O G
w  OQOO0000O0
giraffe O G




Here is a regular hexagon.
The area of the large shaded triangle is double the area of the small
shaded triangle. 1 1 1 1 5 ° 1
2 2 2
1 1
3 3 5 4 4 5 5
1 1
\ 6 | 65 | 7T | 73
ll“'—-._
9 9 % 10 Mushrooms Carrots
A £3.20 for 1 kg 60p for 1 kg
1,200 pupils were asked this question:
12 | 123
How important is it to have a break when using a screen? _
This chart shows the results.
Imp’”ﬂ‘ﬁam A box of 24 chocolate eggs has a mass of 870 grams.
12%
The empty box has a mass of 30 grams.
Very
impaortant
Not
A C to
scale
|
Not
W Cm actual Part Als %m‘ the area of the rectangle.
size
f Part B IS% of the area of the rectangle.

- 6cm -




